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1Q. Neither Brian nor (A)/ his wife
were aware (B)/ of any laws
regarding (C)/the sale of house (D)

Answer — Option B
Explanation - Instead of ‘were’,
‘was’ will be used



2Q. The decision to appoint an
external (A)/ auditor for the
bank is the mandate (B)/ of the
board of governors, a body
(C)/superior than the board g

directors. (D) 00;20
Answer — Option D
Explanation — ‘to’ will be used
instead of ‘than’



3Q. The majority of their (A)/
income goes to rent (B)/ and
leaves them with hardly no (C)/

Answer — Option C

Explanation — ‘any’ will be used
instead of ‘no’ as we use
‘any’ with ‘rarely’, ‘seldom’,
scarcely’, ‘hardly’ etc. and
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4Q. As an independent
adviser, he (A)/ know to run
an online advisory (B)/service

and is recognized as one of
(C)the foremost tradi, 2
expert.(D)

Answer — Option D
Explanation - ‘experts’ will
replace ‘expert’




5Q. The party is acute aware (A)/
that it need to regain (B)/ some
lost popularity if it is (C)/ going to
make the best of this election._ (D)

Answer — Option A
Explanation — Use ‘acutely’ in
place of ‘acute’.



6Q. Once it is appointed by the
President, (A)/ the council of
ministers (B)/ are responsible

(C)/ to the house. (D)

Answer: Option C
Explanation: Change ‘are’ to ‘is’
because the subject ‘council

of ministers’ is considered as
one unit.




7Q. For two days, (A)/ | have
not taken (B)/ the breakfast

(C)/ but dinner. (D)

Answer Option C
Explanation: Delete ‘the’ before
breakfast.
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8Q. Many of my cousins beat
(A) / around the bushes (B) /
quite a bit, especially when they
have (C) / to give you bad ngits

(D) 0 a0

Answer Option B
Explanation: The correct idiomatic

expression is ‘beat around the
bush’
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9Q. (A) If you have a way with
words / (B) a good sense design
and administration / (C) ability
you may enjoy working in / (D)
high-pressure world -

advertising
Answer. Option (B)

Explanation: ‘Administration’ is a
noun. We need an adjective
from here which IS
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10Q. (A) He should refrain to /
(B) associating himself with /
(C) any party because people /
(D) have faith in his integrity

Answer: Option (A)
Explanation: Refrain is followed by ‘from’
and not ‘to’.
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Raju was orphaned at a very (1) ___ age.
He lost (2) __  of his parents because his
family was (3) __ poor to afford any
treatment. He was deeply affected by this. He
decided to work hard and (4) ___ on his own
feet. Along with his studies he (5) __ part-
time In a restaurant and earned enough
money in order to (6) ___ his studies. Being a
brilliant student, he earned scholarships and
later managed to get admission in a good
medical college. He is now a (7) ___ doctor



Raju was orphaned at a very (1) ___ age.
He lost (2) __ of his parents because his
family was (3) __ poor to afford any
treatment. He was deeply affected by this.
He decided to work hard and (4) ___ on his
own feet. Along with his studies he (5) ___
part-time Iin a restaurant and earned
enough money in order to (6) ___ his
studies.

Choose the most appropnagteyarord for
blank (1). (B)



Raju was orphaned at a very (1) ___ age.
He lost (2) __ of his parents because his
family was (3) __ _poor to afford any
treatment. He was deeply affected by this.
He decided to work hard and (4) ___ on his
own feet. Along with his studies he (5) ___
part-time In a restaurant and earned
enough money in order to (6) ___ his
studies. Answer:

Choose the most appropriate wpid for
blank (2).



Raju was orphaned at a very (1) ___ age.
He lost (2) __ of his parents because his
family was (3) __ poor to afford any
treatment. He was deeply affected by this.
He decided to work hard and (4) ___ on his
own feet. Along with his studies he (5) ___
part-time In a restaurant and earned
enough money in order to (6) ___ his
studies. Ans

Choose the most appropr
hlank ()

Wer:
word for



Raju was orphaned at a very (1) ___
age. He lost (2) __  of his parents
because his family was (3) __ poor to
afford any treatment. He was deeply
affected by this. He decided to work hard
and (4) ___ on his own feet. Along with his
studies he (b) __ part-time in a
restaurant and earned enough money Iin
order to (6) ___ his studies.

Choose the most appropriate Nesdefor
blank (4) (C)



Raju was orphaned at a very (1) ___ age.
He lost (2) ___ of his parents because his
family was (3) __ poor to afford any
treatment. He was deeply affected by this.
He decided to work hard and (4) ___ on his
own feet. Along with his studies he (5) ___
part-time In a restaurant and earned
enough money in order to (6) ___ his
studies.

Choose the most appropriaténewed: for
blank (5) (A)



Raju was orphaned at a very (1) ___ age.
He lost (2) __ of his parents because his
family was (3) __ poor to afford any
treatment. He was deeply affected by this.
He decided to work hard and (4) ___ on his
own feet. Along with his studies he (5) __
part-tme In a restaurant and earned
enough money in order to (6) ___ his
studies.

Choose the most appropriaté\nsomd: for
blank (6). (D)



Being a brilliant student, he earned
scholarships and later managed to get
admission in a good medical college. He is
now a (7) ___ doctor and helps poor
patients for (8). ___ This shows that one
can survive every (9) ___ condition.
Determination and hard work (10) ___ to
success in life.

Choose the most appropriate word for
blank (7). Answer:

A recoanize B know C. redacted D.



Being a brilliant student, he earned
scholarships and later managed to get
admission in a good medical college. He is
now a (7) ___ doctor and helps poor
patients for (8) ___ This shows that one can
survive every (9) ___  condition.
Determination and hard work (10) ___ to
success in life.

Choose the most appropriafg Mrd for
blank (8). (d
I'z) {Eram &
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Being a brilliant student, he earned
scholarships and later managed to get
admission in a good medical college. He is
now a (7) ___ doctor and helps poor
patients for (8). ___ This shows that one
can survive every (9) ___ condition.
Determination and hard work (10) ___ to
success in life.

Choose the most appropriatg‘ngwgq: for

A failled R adverce C worce N evil



Being a brilliant student, he earned
scholarships and later managed to get
admission in a good medical college. He is
now a (7) ___ doctor and helps poor
patients for (8). __ This shows that one
can survive every (9) __ condition.
Determination and hard work (10) __ to
success in life.

Choose the most appropriate word for
blank (10). Answer:

A. result B. follow C. excel (B) lead
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(21) God is........
(a) immanent

(b) mortal

(¢) imminent

(d) Deference
Ans- (a)immanent




(22) Riya....... her
matriculation examination In
2016.

(a) Completed
(b) passed

(c) obtained
(d) Gathered
Ans- (b) passed




(23) ........... the rain stopped, the
concert had to be suspended.

(@) Until ‘
(b) Unless
(c) Till

(d) While
Ans-(a) Until




24. Keith has
failure in English examination
thrice.
(a) caught
(b) Gone
(c) got

(d) Met
Ans (d) Met



25. My sister

in Engineering.

(a) Wants

(b) Want

(c) Wish

(d) aspire
Ans- (a)Wants




Home Work

In spite of the high sounding
words, his speech fell flat on the
audience.

1. failed to make an impact

2. impressed a lot

3. appealed to the sentiments of
the audience




(0 Less people came to
Home watch cricket matches this
Work year, so the gate receipts

- Answer were lesser than last year.

a) Many
b) Fewer
c) Lot of

d) No improvement
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